(assumed interest rate)

(discount rate)

3
(assumed mortality rate), (assumed interest rate),
(assumed expense rate)
)
M [EG]
() = )
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(Lock-In method)

’

‘80 Bubble

(conservative rate)
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1
2)
‘08 ,
3
‘82 '87
75% ‘87. 6
10% 2%
‘.7 10
85% (75%)
(199
95% (75%)
2%) 1.0% 2.5%)
20% U2 10% 4
2) (19984.1) 109
3) 1

4) “97.10
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10



5)

-1>
(‘98. 8
75% + 05%p

10 : 95% + 05%p

10 : 85% + 05%p
x 120%
- 15%p
x 120%
- 15%
90 110%

( )
80 110%
( )
* 5)
1
= (A1+A2+A3)/3
,A1 3 , A, =
) As = 3
(A)) =[Mi(-3)+M (- 2)x 2+M (- 1)x 3]/6
, Mi(-3), Mi(-2), Mi(-1) 3 2
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1958 11
, 1998. 4
‘827 (
8.0%) , ‘876 75%
‘984 6)
(
5 ) 1
, ‘98.1
)
A =Ax 02+ A:x03 +Asx05- B
y Al = 6 , Az =
6 , As = , B =
1% (Safety Margin)
A (A1) =[Mi(-3)HMi(-2)x 2+Mi(-1)x 3]/6
, Mi(-3), Mi(-2), Mi(-1) 56 3
4 12 .
6) ‘82 8.0%, '86 75% ,
92 7 8%, 9%
4 = 0.5%p.
7) ‘97.11 IMF 4
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8%

‘2 6
, 75% (876 ) 05%p ,
‘80 1
NS -2 >)
1
‘80
1
1
< -2>
(5 ) (
1958.11 12% ( ) 10.0% N.A
1958.12 | 15% ( 15 , 12 10.0% N.A
1959. 7 12% ( ) 8.0% N.A
1965.10 20% 12% 30.0% 20.0%
1967. 2 25% 12% 30.0% 27.8%
1968.11 20% 12% 25.2% 38.5%
1972. 8 15% 10% 12.0% 10.2%
8) , &“

, 1990.12, pp.23
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G ) ( )
1973. 5 12 15% 10 11% 12.0% 11.1%
1976. 3 19% 15% 15.0% 13.6%
1978. 9 12% 18.6% 16.2%
1982. 7 8.0% 8.0% 11.6%
1987. 6 75% 10.0% 15.4%
: 7.5%
95%(92 )
1992. 7 :n< 10 95% 11.9%
85%(93 )
n 10 85%
9.0%(94 95
1994. 6 5.0 75% ) 10.9%
:75% = 0.5%p.
1998. 4 ' 9.0% 11.0%
n< 10 95% = 05%p.
n 10 85% = 05%p.
: (1985),
(1998 .4)
1) ( )
‘80 90
‘97
(< -3>
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< -3>
(%)
2.0%p 10% ‘87.3 120
15%p 9.0% ‘97.2 105
3.0%p 10% ‘92.8 130
2.0%p 8.5% ‘934 105
x  120% 9.0% ‘97.10 108
x  120% 9.0% ‘97.12 108
- 15%p 14.0% ‘97.10 125
0.5%p 13.5% ‘90.4 130
1.0%p 115% ‘934 105
15%p 14.0% ‘97.10 125
‘90
1
4> ‘97
_5>
‘97
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< -4>
.6 1 )
* o - (%p)
1992 6.0% 6.0% 10.0% 10.0% 4.0
1993 50 50 85 8.5% 35
1994 50 50 85 100 8.5% 35
1995 50 85 70 90 75 100 9.0% 20 00
1996 7.46 9.35 9.53 9.0% -0.35
1997. 3 8.55 943 1044 9.0% -043
6 10.02 10.22 10.33 9.0% -122
9 1092 1155 10.70 9.0% -255
12 14.94 1392 12.08 9.0% -492
1998. 3 17.90 17.95 17.09 9.0% -8.92
* o
1
‘98 2
80 110% (

90 110% (




< -5>
( )
6 6 1 1 2
1992 2,964 627 8,555 17,253
1993 3271 361 8,758 19,436
1994 4453 979 9,603 26574
1995 2,959 2453 12576 28817
1996 3,482 2,217 14,648 33,446
1997. 3 4,201 1,899 14,983 34484
6 6,276 3,550 15,074 38,708
9 7,793 3,643 14,614 41,027
12* 13339 | 283% 4 477 102% | 16,696 14% 47,387 42%
1998. 3* 27,173 | 680% 12449 | 462% | 23,406 60% 73,205 119%
. 1996
: 2
( )
2)
1987 75%
10.0%, 15.4%, 12.8%
05 2.0% (120%)
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9)

10)

9)

time lag
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1)

_6>
35 4
-6> (FY'96 )
( L %)
6 6 1 2 3 4
1 2 3 4 5
20.3 159 24.2 13.7 94 6.1 104
(36.2) | (604) | (741) | (835) | (896) | (100)
27.2 15.7 212 15.2 95 49 53
(42.9) (64.1) (79.3) (88.8) (94.7) (100)
238 175 228 153 9.6 54 56
(41.3) (64.1) (79.4) (89.0) (94.4) (100)
298 177 204 143 79 49 50
(475) | (679) | (822) | (90.1) | (950) | (100)
279 200 245 13.7 70 35 34
(47.9) (72.4) (724) (86.1) (93.1) (100)
216 16.1 23.7 140 9.3 59 94
(37.7) (61.4) (75.4) (84.7) (90.6) (100)
()
: , FY'96
11)
(1997)
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FY'97 1
< -7>
(
1993 1,204 2,249 1,293 -26 -3,042 - 396 1282
1994 2,160 4,622 -2327 -32 -7,259 -1,293 -3925
1995 3,196 3,006 -5674 -34 -7,209 -1,789 -8,504
1996 4,701 -2318 -4,152 -41 - 4,655 -2,119 -8,5584
1997p 5591 - 11,090 - 553 -92 - 1,266 - 1,044 -8454
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